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General Instructions :

(i)  The question paper has 30 questions in all. All queshons are compulsory.

(ii) Marks are indicated against each question.

(i) Questions from serial number 1 to 8 are very short answer type questions. Each
question carries one mark.

(iv) Questions from serial number 9 to 21 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

(v) Questions from serial number 22 to 29 are 5 marks questions. Answer of these
questions should not exceed 120 words each.

(vi) Question number 30 is map question of 3 marks from Geography. After ™
completion, attach the map inside your answer book. &
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Why did manuscripts fail to meet the expanding demand of pooks in Europe ?
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Name the first proper modern novel written by Srinivas Das.
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How much area of forest was converted into agriculture land between 1951 to 1980 ?
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By what term is known the person who believes in equal rights and opportunities for wome
and men ?

s Sfusr IFT=<IeE F T a9 sarei

Give one feature of the Civil Rights Movement.

' frrd v W WAEA | T e | A v 22

What is meant by the system of ‘checks and balances’ ?

et 3w & anfies fawrs ) 593 & o waifvs |9= g9 FR-31 8 82

What is the most common indicator for measuring economic development of a country ?

FE 2 arfifs TR TaTeT 3 wTafE drw ¥ sty T i &

State any two activities which do not come under the primary sector.

39 &FF 1 79 fafEe N 2000 TF FEQ@ T TR F2@O FF 991 W@

Name the sector which continued to be the largest employer even in the year 2000.

A A vl A ARy f Q Ty & 419 T fdE sl @ srdvifedl T aoife 3 S

State two lessons which the Economists and politicians learnt from inter-war economu
experiences.
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Why was it not easy to displace traditional industries by the new industries even at the end o
the nineteenth century in Britain ? Explain.

FyAT/ QR
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Which three features of the big modern city of Calcutta fascinated the Gods as described in
the novel written by Durgacharan Roy ? Explain.

Y F e W Wt B YO I 7 F Wil & o 1 H g fwan?

How did the introduction of potato crop in Europe affect the life of the people in Europe ?

JUET/ OR
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Where was the first cotton mill set up ini)dia ? Write the views of Dwarkanath Tagore
towards development of India

AT/ OR

a‘aﬁﬁmaﬁmﬂ:wmhmmﬁw‘iﬁqmﬁfﬁfm:

State any three steps taken in Bombay to solve the problem of housing.

"zﬁqﬁqﬁﬁﬁﬁﬁwﬁﬁw#@hwﬂm%mumﬁ:"ﬁﬁa&ﬁﬁmaﬁhq:

‘New reading culture in nineteenth century China was accompanied by a new technology".
Elucidate in three points.

3|t/ OR
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Why were historical novels written by the Indians ?

zm et 3 Fem yaT YIRa H g B agrn fon?

How did print culture assist the growth of nationalism in India?

J1eEr/ OR
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Why did the readership of novels begin to include poorer people

1740 ? Give any three reasons.

‘g § w e €2 gEEl % el 3 SR 1 ST Fiag |

What is meant by 'resources' ? Mention the basis to classify the resources.

ot fgu femd yonet =n € 2 e frfl 2 fasdroanadl &1 3o #ifom

What is bamboo drip irrigation system? Mention any two features of it.

WRA St TF FOA g T ST WiEd sqn@n Hif |

Explain ‘"KHARIF’ cropping season of India with examples.

w1 o7 AT F avd ww wR A A £ 0 woAT giEwm forfRe

Do you take decentralisation as means to minimise the conflicts ? Give your view point

Afewrm & mﬁmmaﬂmﬁmmmm?mmmaﬁmu

How has Belgium succeeded to overcome its ethnic problems ? Explain with examples

ﬂmm%mﬁmm,mmmmﬁwﬁmmm
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How far do the emergence of social differences lead to social division? Explain by giving

suitable example.

mﬁmﬁﬁ%ﬁﬁmﬁmm&ﬁﬁmméw@mmw
mm,ﬁwmmw*mmamtl

Cite any three daily life examples to prove that money in your pocket cannot buy all th

goods and services you may need to live well.

fﬁﬁ%ﬂ%fﬂﬁ:ﬁﬁqﬁﬁﬁﬁﬁﬁx@ﬁlﬂﬂhﬂ‘ﬂu

Describe the role of the tertiary sector in the development of 2 country.

o1 famra fravd siR fava fawma ol 9 o &ifaQ

Differentiate between Human Development Report and World Development Report.

Cume % oUW WEe Ay s @R W 1929 ®H O WER=l @ AW
- arEm vel ' w9 S gETa e s

'The impact of Great Depression of 1929 was different on the Indian rural and industric
society'. Justify the statement.

aerET/ OR
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Explain the ways by which the British manufacturers persuaded the Indian people to bu
their products.

Huar/ OR
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oy ilways.
Describe the social changes in London which led to the need for the underground railway

@mﬁnﬁmﬁ,aﬁﬁnmﬁﬁmmﬁ%ﬁqﬁmﬁﬁﬁﬁﬁﬁmmﬁméﬁwﬁ' 5
FeETw e |

: in E recome
What motivated a large number of children, women and workers in Europe to L
readers ? Support your answer with examples.

aperar/ OR
9w e T EE M7 IW T AR A fFE YRR S6h ST R S W SAfE S
of ? W= Tt

Who was Vaikkom Muhammad Basheer ? How were most of his works based on his own
rich personal experience ? Explain.

e WX W 9@ @ gEval & fou Iwert weequ Fehl @1 g9 @it ) Describe the

important factors responsible for the water scarcity in the world.

wn

"yre ¥ W Wi g H HiY W e 3 R famn = ferem €71 39 sy & fedl o RO S
wiga gfe Hifaw)

“The declining share of agriculture in the Gross Domestic Product (G.D.P.) is a matter of
serious concern in India”. Support the statement with any five reasons.

WG & faRen @1 FEER w0 Tl TR e sre @ emen Fif

5
Explain any five factors that have led to the weakening of the caste system in India.
HM-1 9 @ el 3 v § Weaw H wwer 1 gifEm fEm e we sk 5
Which two major policies have ensured the success of federalism in India? Explain.
HTETTY fashra 1 wd ¥7 % fawy () A, e wierdi awn W i WE w5
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